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Start

Read length (L), width (W)
Area=L*W

print Area

Stop
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" Read L,W
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Area=L*W

!
/ Print Area
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1=float(input("L= "))
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2 (w=float(input("wW= "))
3 |area=1lxw

4 |print("Area= " , area)

1A AUad] aaali g el ) daua LA

Esia s Loy gl 4 jlBa g p Adllae s dali g el ol 4y 2y

1 |1=float(input("L= "))

2 |lw=float (input("w= ")) W=4 51=3.5 ~sll gali il 248 vie
3 |area=lxw

4 |print("Area= " , area) 14 & 0% of o a0
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Python3IDE(Python 3.7) running!

L= 3.5

W= 4

Area= 14.0

Pytho3IDE run end!
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1) Start
2) Read Base(B), Height (H).
3) Area=1/2*B*H
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/ Read Base(B) , Height (V
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Area=1/2 * B*H

!
/ Print Area /

End
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h=float(input("H= "))
b=float(input("B= "))
area=(1/2)xbxh
print("Area= " , area)

ui Ao W N =

N




Problem Solving Techniques

¢alila dalica lowa 12 la
1 AUNS Al praali g gali il daua LSA)

sia 9 Loy i) & jlha g o Al daili g el ull 4ty

1 'h=float(input("H= "))

2 |b=float(input("B= ")) 5 54 adll gali ) 245 e
3 |area=(1/2)*bxh ‘

4 |print("Area= " , area) 10 & 055 of o sitall 0o
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Python3IDE(Python 3.7) running!

H= 4
B=5

Area= 10.0
Pytho3IDE run end!
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Start

Read AB,C
Sum =A+B+C
Average=Sum/3
print Average

Stop
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Average=sum/3
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Read A,B,C

Sum=A+B+C
Avg=Sum /3

{

Print Avg

End
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1 la=float(input("A= "))
2 |b=float(input("B= "))
3 [c=float(input("C= "))
4 | sum=a+b+c
5 lavg=sum/3
6 |[print("Average= " , avg)
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1 |a=float(input("A= ")) ) .
2 |b=float(input("B= ")) 35 565 550 pailly el ) i 2ic
3 |c=float(input("C= ")) ”
4 |sum=a+b+c SO@U\Q;Seobb)M\
5 |avg=sum/3
6 |print("Average= " , avg)
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Python3IDE(Python 3.7) running!
C= 35

A= 50 }
Average= 50.0

B=
Pytho3IDE run end!
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Fahrenheit= (9/5 *Celsius) +32

t b laS Al jualie Julasi (1

(< sthall)cis il Al (Clbbedl)edial

Information m=—— Processing *—  Data

‘5‘53.4.“ em.m..\ 5yl ;\QJ.\ ety E WL IRTXPN (]_

rdalleal) clples a3 (2
RS RI I IPP R S PN E ST
Fahrenheit= (9/5 *Celsius) +32
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Fahrenheit= (9/5 *Celsius) +32

ST I FER E
A jalady) i Ay )

Ll -1
2) Read Celsius
3) Fahrenheit= (9/5* Celsius) +32

4y print Celsius ,Fahrenheit

5  Stop Celsius ,Fah renheitﬁ.ahi—4
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Fahrenheit= (9/5* Celsius) +32
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Read Celsius

Fahrenheit= (9/5* Celsius) + 32

|

print Celsius ,Fahrenheit

End
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c=float(input("Celsius= "))
fahrenheit=(9/5%c)+32

print("Celsius=", c ,"Fahrenheit=" , fahrenheit)
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Python3IDE(Python 3.7) running!

1 |c=float(input("Celsius= "))

2 [ fahrenheit=(9/5%c)+32

3 |[print("Celsius=", c ,"Fahrenheit=" , fahrenheit)
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Celsius= 35
Celsius= 35.0 Fahrenheit= 95.0

Pytho31DE run end:
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